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Except for the wood of an Asheiroh tree - Iy vxvn N

OVERVIEW
The X7n) cites a X1»72 which states that the wood of an 77°wX is forbidden even
after it was burnt and became ashes. N901n questions this ruling.

nooIn asks:
= XYY AYONN N9ANVIY D919 NIV 19N DHYAN 13 IYNY 139D NN

The R'"aw= is astounded! Let the ashes of the 77w *xvY be like an idol which

broke by itself, where it is permitted to derive benefit from it -
= (3,80 11 Amay) “DYNN 93 D993 1399NINTS

As the X n3 states in 27927 9o pab.

mooIN rejects an anticipated solution:
- >mnmy 9Hvra nY PRT INIYI HY NYIYNAI 999910 NINT 91997 PN

And we cannot say that here we are discussing an 79°wX which belongs to a

Jew, which can never become »Wa. npoin rejects this answer; the Xn™72 cannot be
discussing an P82 YW 7YX -
- PNON BNYY APYNRY YTPN 99K 390 3593 RY 59157 YINI (v, 15 97 TNINN 9103 NNT

For in the end of 77%n noon the X7nx explains the reason the Xn>72 did not

combine and teach that ‘the ashes of w777 and 79°wR are always forbidden’, is -
119V *DIY) 129y NONVY BN ANPN NY Y NPYNT DIVN

Because an 72X can have a ano7 if a "3 burnt the 77°wX, for by burning it, the

"3 was van the 7wx and it is permitted, however by wTps it can never be permitted.
Therefore the Xn»72 mentions the two rulings separately, for they are different rulings. m»oIn
does not answer this question.’

"7wx s a tree which was planted to be worshiped as an 1"v.
2 The X3 there reads; X777 770K K 73717 227 DM AR 2"2WA 70K IR 1301 227 2R TI2ANWIW 022210 NTIAY IR
% 7781 K723 RITT? AER KD AW MR MK 07 72 22021 72102 K19Non 1IN Nk 5w 7702 KY.
See 1" 0 7" (17 O 2891 '9) 2% PR 90, who explains that even though the 71997 is (always) like *" (against ")
who maintains that 70K 7°98» 772nww 1"V, nevertheless in a case where it broke into small pieces, > would also
agree that n7nm, and the ashes of "'V is considered like very small pieces.
3 However the Xn3 in 1"y is discussing an "2 > 1"y which can become va through 2102 by the .
* [See (also) 1981 7" *"wA.]
> The Xn™12 states MOX D2WY WP DK ,APWK “X¥n YN INM 119K T3 22; it separates 7PWK "Xy and wTpA into two
separate rulings. Seemingly (since by both of them MoK 7179X) the &n>12 should have combined the two rulings into
one, simply stating 1108 02192 71WRI RV N9K8A [P0].
® It is evident that the X012 is discussing an 1 %@ 7°wX; the question remains why is it not 2!
7 See “Thinking it over’.
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SUMMARY
The burnt 77°wX should seemingly be 70 just like an 98» qY2nwIw 1"y,

THINKING IT OVER

X2 states” in 1" 'on that even though Xn»MXT» a Y8 can burn an M3 5w "y and
the ashes would be 7n12. However the 2°1on were 713 that perhaps in the process of
burning the 1"v, the Y%7 may pick it up and acquire it wherefore it would become
an PXw° 2w 1"'v which can never become 7v2. Therefore an " 5w 1"y which a x>
burnt is 732771 7OX. We can seemingly now answer Md01N question that our Xn»12
here which states 77°WX *xvn Y1 is discussing a case where the Y872 burnt the
("3 9) 7°wK; therefore the 79X is MoK because of the aforementioned 771!’

8 x,an.
? See ywi *10 and 2> 1 (mentioned in footnote # 2).
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